Pow&F Sernd

‘/&S{‘ T o~
— i
L Co,vyarts
1§ ON

A Ife—r/\q'(-{
p

‘E‘)do»;f
Powtr  soud
= Quding 6 5[0
~ T )
A o4 lony.,

Queshony

— W

- w‘i\;{- 0 a 'ﬁ»dw«
“w% § o fowr ?

| s
Conslrmffg e
» wwyow(al’
7))

OCJ' J_o(’ 02
G

" Regrevet
()ﬂ'al‘ni Q\N
N
Fwwr few .



fouwe Seus

MW ('5 QA Wa/\?

Loasely  ¢peakin @ ﬁ;\ch@n T
et floe  on Tt et (/f\ljb'«%, ass 17 rey
otk Valeet.

Whet s« ?om Seid !
- Givn o :Q%,xm(,t Ccn)/ ek hxed  pulnbe a,
W Cen  Conshuet oN éx Pce.wla/\

o)

i@méz—a)’\ 0

o
Cnted
Queshon . What  yaluey a‘L 2 o€ e oMo

o plag o7

oo
Ton e think 2D FCa ()" a5 ¢ £ nchon

n=o9

Padiy o (onryenrn :

- Evu one Sores heoy o ua. 0l P ¢ oo
b or 7

= jC,, (2-a) n ¢ CONUHYL whn [2—<«| C L
N=o




c= N 7
OZ% kel 2oc
~=
[{/v\ /\ Z’l) l)
ﬂ 70 /\,-(-l '
O % 70/" - Z.0-c
e | al (- 3
@ OZO I\l'\ R.Oc(/? joé')
= lm (&) (N o
r=1 Z h-X%0 (J«ﬂ JKM' =t [-‘/ l)

@%LA p.o.¢!
n' -
A= c= C——OO,OO)
¥ e Tl e it gt e
‘0@9?,0* e fudhw /,ﬁ lﬂmrefa,ma-
We M (@) 10 fuste A (o)

) Lyoe  w (2) o e



Uil Fuct

@'ﬂw‘. ﬂ% e pous Soeu %d,\ 2" (Onvese

nN=po

a/{- S0 me IO-’-{-‘O/ thon LL CO/Nre?,b f)r Qza

2] <bH .

pe.:
=z

wl‘} Gn't us s ak 2| ¢b?
— S oaqly  ome  whe Z£0.C¢ [-€e)



The Qakp Test

(rives Can) Seqpor, ond 59 ppoc-

- '|'/h (1
% nh o0 nAn

-
’1/6, 0[/“/ fhin mioa,\ (oM e

fn 2 4 divey
‘1(/ 1,5,

0‘-? (o)

% 7/":\} C‘\CORLLVV\ .

Qﬁ%ﬂ QVPT""’ q/él, We ned to S
Mm %laa\ lonvere WL Siaa 141)

K‘-)OO n=9
a4l

()rolC ¢<Sél . THA Siax Im ) 9,
3 N 20 s.&
[ann | < g4 [ S
| dol
=) layei|l < S law)
Buk fOlw-l S

| At |



=) [(Mm‘l' C S‘ayﬂl L Slldpl

o2 - . '
So S| < 2 lS
f=pN p=M

ad Sl <l / &9, %Mc Sew ol
O ek covvart\.isv\)

%ta,\\ (onv
n=N
ujé (1/>‘ ) (h ©70 st q/—€>()
U J W s
‘dr\-tl\ -4 0('( n N
oA
=> 0y | > (%) (9]

= |0y | D 479 Ll > @/“‘z)l(awl



Sern dt‘wj,e, ISON % ([av\ = o2
o ot dhele (on v



’r‘aFm % CQaesh\Sf\o
O Far  rtudig 0(5 (On ey

- uie @by et Bt

= Rabo Lot porks  gpmihesy.

Geowmelr Sewy

2 e’ (onet 4 af Seus Ot
o A= ) e g,(j Z-/m- .
A= |
’ _-5/ L ?—"‘- dw-o?,zu
e
> i



Exa“P(L B l MOS“ imroM ﬁ/\t/ﬁbn " M&MLM“ )

1-//\

—
Z n!
v/

[

lim |2 | = lim '7‘L‘ I P G

proo el m-1P 1 re nom N = 00,
(nt)!

Ha,‘; udiw a6 C(W\W M % £

Exa
_—IVPL: Z JN(n-2) - (x2)"

ll.’“" QMZ , (,\‘H) l
o Al- (Rﬁ‘(‘l) @,)—-——\—‘C‘i

= l/‘M '\‘H ‘fm M _ l ZOC
e an+l = Ao o [

Ak atadd % v, (-2 <2

=) 2l z2L2
=) 04 x < & WM Mﬂ"“/




4. Find the interval of convergence of the following power series:

(a) Z i (solution: (—1,1])

(b) i WT_‘” (solution: [15/4, 17/4))
(c) Z <_1):Z: - (solution: (—2,2))
(d) Z; g:;; (solution: (—o0,0))

(e) Z (=1)™nile = 5)" (solution: x = 5)

(f) Z (n_sz)ln (solution: [—1/2,1/2])

<g>§£31_3?§ff2521_1> (solution: (—3,1))

(

|
(37; 2", (solution:
n!

o0
5. Find the radius of convergence of the power series Z

n=0

1/27.)
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